
 ����� 4 �����	�
���
�
�	 
 4.1 ������	
��
�������������� 
 ��������	
�����
�������
���������������������������������������������������	������������������������� ���������!�"��#"����$�%&���'��(����$��)��*� ���$,�%�	
�����
����-��.( �� 
   
    0 1t t tGDP b b BOI e= + +     (4.1) 
 /,��-����$,�%�	��*���*����������*������$��� �����*��,����������
��� 	0� 
 
    2 3t t tBOI b b GDP g= + +    (4.2) 
 #�)���   
 tGDP        = natural logarithm '��1��"2��3��
��
�2�)-�(����$ 
 tBOI        = natural logarithm '���.�	����������'��#	�����������������
              ����������������������������	������������������������� 
 te , tg        = 	��	
��	���	�0��� 
 0 1 2 3, , ,b b b b     = 	��
������"��� 
 
4.2 ���
�������� 
 ��������	
�����
�������
���������������������������������������������������	������������������������� ���������!�"��#"����$�%&���'��(����$��) ����(4�"���-5�'���.�����(4�'���.��������
�� /,��'���.��������
����������6����(-5�
)����������"����(4�'���.��������
����������%������ ���)6,� ������'���.��������
���).�-��2�
'�����������5���6�"� (statistical equilibrium) 	0� ������'���.��������
�����������(���)� (��6,� ���
�����(���)� (���( ��0�	���9���) ��	��	
�� (�(�
���"�����
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	��	���� �����*��,�"������������������
��'���.��������
������������-5������%��������0���� #�)�������� unit root ��
)�������� DF (dickey-fuller test)  ���������� 
ADF (augmented dickey-fuller test) /,���(4�'�*�"�� ��-����$,�%�2�)-"�
��� cointegration 
and error correction mechanism #�)���"�
 (��������*��
��������������%��������� (Non 
stationary) ����	0� 	���9���) ��	��	
�� (�(�
�����	�����	���� �(���)� (���("������
�� ������������"�
����	
������'���������
�� �����-�����
)������������
���6.�"��� ����
	0������������6�6�)��� ������ (spurious regression) ������� 
 ������-5�'���.��������
���
0�����
)����� #�)���
��	����������"�
 (� tY �(4�"�
 (�"��  ��"�
 (� tX �(4�"�
 (������ /,����*����"�
�����%�����"���(��*   
     1t t tY Y u

−
= +      (4.3) 

 
     1t t tX X v

−
= +      (4.4) 

 #�)���  
 tY  , tX  = '���.��������
�� � �
�� t 
 1tY

−
 , 1tX

−
 = '���.��������
�� � �
�� t-1 

 tu  , tv  = 	��	
��	����	�0����5������ 
 
 ��0�� tY   �� tX  �(4�'���.��������
����������	
�����
���������) �����6�6�)���������)�
�������6�6�)��� ������ ��*���*��0������'���.��������
����*������%���������������� ��0������	�0������'�� tu   �� tv  �(4��������� ����	0����
��� tY   �� tX  �����	
�����
����"�����  "�	
�����
�������
��� tY  ��� 1tY

−
  �� tX  ��� 1tX

−
 ������	���.���� �����*������6�6�)����������������$.�)�������'�������
���� [I(0)]  

 ��0��
)����� tY  ��	�� R2 ����.�  "�	����������-
�"���"������ ��*���� tY   �� tX  �����	
�����
���������)  ���-����>� high level of autocorrelated residuals /,���(4����)�������)�����-�����$�%&$��"��  �������6�����%&�����
�������6�6�)�������(4������6�6�)������ ������ �����*��,�������������-������'���.��������
���������,��������'�������
���� [I(I)] ���
�
�� R2 �������'��-��� 0  ��	����������-
�"����'��-��� 2  ��
 ���
��  
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tY   �� tX  �����	
�����
������� R2 �������(4� R2 ������ ������  �������6�6�)�������>�(4������������ �������5����� �����*�6���������������6�6�)��� �������(-5�)������6.�"��� 
 �����*�-����$,�%�	��*���*�,����'���.�����
��
�����������	
������'��'���.� #�)�������� Unit root ���������*��>������������
)
��� cointegration '�� Engel and 
Granger �
0��$,�%�	
�����
�����5�����)2�
��)�)�
  ��
��� Error Correction Mechanism 
(ECM) �
0��$,�%����%�����(���"�
-���)���*� ������)��������"����"� (test for 
causality) �
0��$,�%�
��"�
 (�-��(4�"����"�'��	
�����
���� #�)
�������������* 
 
 4.2.1 ������
� Unit root 
 �������� Unit root ��*������6��������#�)-5��������� DF (Dickey-
Fuller (DF) test)  ���������� ADF (Augmented Dickey-Fuller (ADF) test) ���"�&��
��� '���������� DF 	0� 0 : 1H ρ =  �������� (4.5) �������� ���"�	
�����
�����(4������* 
 
    1t t tX Xρ ε

−
= +      (4.5) #�)��� 

 1,t tX X
−
 = '���.��������
��'��"�
 (������ � �
�� t  �� t-1 

 tε   = 	
��	����	�0����5������ (random error) 
 ρ   = ���(�������C��"�����
���� (autocorrelation coefficience) 
 #�)�����"�&��'����������	0� 
 
    0 : 1H ρ =  
 
    1 : 1; 1 1H ρ ρ< − < <  
  
 #�)�������������"�&���(4���������
��"�
 (����$,�%� ( tX ) ��*��� unit 
root ��0����  �����6
������������	�� ρ  6��)����� 0 : 1H ρ =  ���)	
��
�� tX  �� unit 
root ��0� tX  �����%���������  "�6��)����� 1 : 1H ρ <  ���)	
��
�� tX  ����� unit root ��0� tX  �����%������ �������(��)����)�	�� t-statistics ���	���
�������	��-�"���� 
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Dickey-Fuller /,��	�� t-statistics ������)�
��	��-�"���� Dickey-Fuller �������6(D�������"�&�����  ���
��"�
 (�������������������%������ ��0��(4� integrated of order 0  ����
)  tX  ~ ( )0I  �)������>"���������� unit root �������
'���"�� �����6���������
�����,��	0�  
 -��    ( )1 ; 1 1ρ θ θ= + − < <     (4.6) 
 #�)���  θ  = 
������"��� 
 �����    ( ) 11t t tX Xθ ε

−
= + +     (4.7) 

 
    1 1t t t tX X Xθ ε

− −
= + +     (4.8) 

 
                  1 1t t t tX X Xθ ε

− −
− = +     (4.9) 

 
           1 1t t tX Xθ ε

− −
∆ = +     (4.10) 

 ��������"�&����������'�� Dickey-Fuller -��� 	0� 
 
    0 : 0H θ =    (Non-stationary) 
 
    1 : 0H θ <    (Stationary) 
 
 6��)����� 0 : 0H θ =  �����
�� 1ρ =  ���)	
��
�� tX  �� Unit root ��0� tX  �����%��������� ��0������'���.��������
�� � �
�� t ��	
�����
�������'���.��������
�� � �
�� t-1  "�6��)����� 1 : 0H θ <  �����
�� 1ρ <  ���)	
��
�� tX  ����� unit root ��0� 

tX  �����%������  
 ��0������'���.��������
�� � �
�� t ����
����
�������'���.��������
�� � �
�� 
t-1 	��	���� �� �
#��� �����*� ��
 Dickey-Fuller ��
�����������6�6�) 3 �.( ����� "�"������-���������
���� unit root ��0���� /,�� 3 ������������
��� �� 
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    1 1t t tX Xθ ε

− −
∆ = +     (4.11) 

 
     1 1t t tX Xα θ ε

− −
∆ = + +     (4.12) 

 
                1 1t t tX t Xα β θ ε

− −
∆ = + + +    (4.13) 

 
 ���"�*����"�&��'����������'�� Dickey-Fuller �(4��5�����)
����������
�� ��
'���"�� ��
���������#�)-5��������� ADF (augmented dickey-fuller test) #�)�
���'�
����6�6�)-�"�
��� (autoregressive processes) �'���(-������ /,���(4���� ��(I!��-��������-5���������'�� Dickey-Fuller  ��
	�� Durbin-Watson "��� ����
���'�
����6�6�)-�"�
����'���(��*� 1��������� ADF �����-�����	�� Durbin-Watson �'��-��� 2 ���-����������-����������
��� lagged change �'���(-����������� unit root �������'
��0� /,��
������-���'���(��*� ����
� lagged term (p) ��',*��).����	
���������'��'���.� ��0������6-������
� lag �(����������������(I!�� autocorrelation �����* 
 
None    1 1

1

p

t t i t t
i

X X Xθ φ ε
− −

=

∆ = + ∆ +∑    (4.14) 
 
Intercept   1 1

1

p

t t i t t
i

X X Xα θ φ ε
− −

=

∆ = + + ∆ +∑   (4.15) 
 
Intercept & Trend  1 1

1

p

t t i t t
i

X t X Xα β θ φ ε
− −

=

∆ = + + + ∆ +∑  (4.16) 
 #�)��� tX   = '���.�"�
 (� � �
�� t 
 1tX

−
 = '���.�"�
 (� � �
�� t-1 

 , , ,α β θ φ  = 	��
������"��� 
 t   = 	�� �
#��� 
 tε   = 	��	
��	����	�0����5������ 
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 ����
�'�� Lagged term (p) ����
����'��-������',*��).����	
���������'�� "������
���) ��0��
���	�� lag -���������
����
�'��	��	
��	����	�0������������(I!�� 
autocorrelation 
 �����������"�&����*�
���  Dickey-Fuller Test (DF)  ��
��� Augmented 
Dickey-Fuller Test (ADF) �(4���������
��"�
 (��������� ( tX ) �� unit root ��0���� /,�������6��������	�� θ  6��	�� θ  ��	��������� 0  ���
��"�
 (� tX  ��*��� unit root /,����������"�&�����#�)����(��)����)�	�� t-statistic ���	���
�������	��-�"���� Dickey-
Fuller /,��	�� t-statistic ����������������"�&��-� "����.( ����*���"�������(�(��)����)����"���� Dickey-Fuller � �����"���J 6�������6(D�������"�&�����  ���
��"�
 (���������������(4� Integrated of order 0  �������
)  tX  ~ ( )0I  
 ������������������"�&��
�
�� tX  �� Unit root ��*�"�����	�� tX∆  ����� 
differencing ��������������6(D�������"�&�����
�� tX  ��	
���������'��'���.���� �
0������
�� order of integration (d) 
���).�-������-� [ tX ~ ( ) ; 0I d d > ] 
 
 4.2.2 �����	
� Cointegration test  
 �(4���������	
�����	����'��'���.��������
��'��"�
 (�	.�-�J 
��������	�0�����
������	���������0����  ��0������2�)-"�	
���50�����
��-���)�)�
 ��
"�
 (�����$�%&���	
���������	�0�����
-���$���-���$�����,��������	�������  ��
��-���)���*�	
���	�0�����
'��"�
 (��������
�����������	�0�����
�����������6��������$������ ���������>"��  ��)���(4�������������	�0�����
'��	��	
��	����	�0��� (Error 
term) '�������	
�����
�������
���"�
 (����"����������� /,������0����'�����* 

� "�
 (��������
�����"����������� "�����	������"�'��	
������'��"�
 (� ��0�6��"�
 (����"����������������	������"��������
  "�6������(���)� (�� (differenced) '��"�
 (� � ���������-�J (d) ��	������"�'��	
������ ��
 ����
���
�� "�
 (��������
���������
������	�0�����
������	������� (cointegration) 
�  ��
��"�
 (����"������������������	������"�	
�������).��>"��  "�6��	��	
��	����	�0��� ( tε ) '��	
�����
�����5������"��'��"�
 (�	.�-�J ��	������"�'��	
������ ��������6����
���
�� "�
 (���*���������%��	
�����
�����(4� cointegration ��� 
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 '�*�"��-��������� cointegration �����"���(��*�����"�
 (�-� ��������
�������%���(4� non-stationary ��0���� #�)-5�
��� ADF test  �����"���-��	��	����  �� �
#���'���
��  ��
�����(����������6�6�)��
)
���������������)������ (ordinary 
least squares: OLS) �����
�������0� (residuals) ��������6�6�)���(�������� �������
�������%��������0���� /,������������
�������0� (residuals) ����������"���(��* 
 
    1ˆ ˆt t tvε γε

−
∆ = +      (4.17) 

 #�)��� 1ˆ ˆ,t tε ε
−
 = ��
�������0� � �
�� t  �� t-1 ���������������6�6�)-��� 

 γ   = 	��
������"��� 
 tv   = '���.��������
��'��"�
 (����� 
 ���"�&�����-5�-��������� cointegration �������* 
 
    0 : 0H γ =   (no-cointegration) 
 
    1 : 0H γ <   (cointegration) 
 
 �����������"�&���(��)����)�	�� t-statistics ���	���
���������"����
�'�� 
ˆ ˆ/ . .S Eγ γ  �(�(��)����)����"���� ADF test /,��6��	�� t-statistics ����
��	��
��K"'�� 
MacKinnon � �������)���	�!����������
� �>���(4����(D�������"�&��
��� ����(�.�'�����(���
��"�
 (���������%��������� (non-stationary) -�������������
�����%����
�����(��
)��� (cointegrated) 
 �)������>"�� 6����
�"�	�����0���
�������0� (Residuals) '������� (4.17) ����(4� write noise ����>��-5��������� ADF  �������-5������ (4.17) ���"�
�� tv  '���������� (4.17) �������
�����5�������� (serial correlation) ����>��-5�����������* 
 
    1 1

1

ˆ ˆ ˆ
p

t t i t t
i

a vε γε ε
− −

=

∆ = + ∆ +∑    (4.18) 
 



 55 
  ��6��  2 0γ− < <  ��������6���(���
� �  ��
�"�	� ����0���
���� ���0� (Residuals) �����%������ (stationary)  �� ty   �� tx  ���(4� ( )1,1CI  #(�������"
�� ����� (4.17)  �� (4.18) �����
�����
�"�� (intercept term) ��0������  t̂ε  �(4���
�"�	�����0���
�������0� (residuals) ��������6�6�) (regression equation) 
 
 4.2.3 ����	
�� Error Correction Mechanism (ECM) 
 ��0������������� ��
 '���.��������
�����������$,�%��(4�'���.��������
����������%��������� ���������(I!�������6�6�)��� ������ �����6�6�)�������������
�����(��
)���  #�)���������(���"�
�'���.������-���)�)�
 ���)	
��
��"�
 (���*������	
�����
���� �5�����)2�
-���)�)�
  "�-���)���*������������������)2�
  �������� Error Correction Mechanism (ECM) 	0��������(���"�
�'���.����)2�
-���)���*� ���"�-�� tY   �� tX  �(4�'���.��������
����������%���������  ���������(I!�������6�6�)��� ������ �����6�6�)�������������
�����(��
)��� #�)���������(���"�
�'���.����)2�
-���)�)�
 ����	0�"�
 (���*������	
�����
�����5�����)2�
��)�)�
  "�-���)���*������������������)2�
��� �
���9���*��,�-��
���	��	
��	����	�0������)2�
��* ����(4�"�
�50���
K"�����-���)���*� ����)�)�
�'����
)��� #�)���%�����	�!'��"�
 (��������
������������
��(��
)���	0� 
�6��
�� (time path) '���������
���������*�����������
�����������)�������������)2�
��)�)�
 �����*���0�������'���.����)2�
��)�)�
 ����	�0�����
'��'���.��������
���)������)���"�
 (���"���"������"��'���'��������������)2�
 -� �������� Error Correction Mechanism 
�
�"���)���*� (short-
term dynamic) '��"�
 (�-������������������
�����������)�������������)2�
 
   
 "�
�)��� �������� Error correction model (ECM) �(4������* 
 
 1 2 1 4 5

0 1

ˆ
qn

t t m t m p t p yt
m p

Y a a a X a Yε µ
− − −

= =

∆ = + + ∆ + ∆ +∑ ∑  (4.19) 
 
 1 2 1 4 5

1 0

ˆ
s v

t t r t r u t u xt
r u

X b b b X b Yε µ
− − −

= =

∆ = + + ∆ + ∆ +∑ ∑  (4.20) 
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#�)��� ,t tX Y   = '���.��������
�� � �
�� t 
 ,t m t rX X

− −
 = '���.��������
�� � �
�� t-m  ���
�� t-r 

 ,t p t uY Y
− −

  = '���.��������
�� � �
�� t-p  ���
�� t-u 
 1t̂ε −

                          = ��
�������0� � �
�� t-1 ��������	
�����
������)�)�
 
 ,yt xtµ µ   = 	
��	����	�0���'��"�
 (����� 
 1 2 4 5 1 2 4 5, , , , , , ,m p r ua a a a b b b b  = 	��
������"��� "�
��� m = 1, 2, 3,=,n  "�
��� p = 

1, 2, 3,=,q "�
��� r = 1, 2, 3,=,s "�
��� u = 1, 2, 
3,=,v "�������� 

 ���"�&�����-5�-��������� Error Correction Mechanism �������* 
 
 1.    0 2: 0H a =  �����	
�����
�������-���)���*� 
  1 2: 0H a ≠  ��	
�����
�������-���)���*� 
 
 2. 0 2: 0H b =  �����	
�����
�������-���)���*� 
  1 2: 0H b ≠  ��	
�����
�������-���)���*� 
 
 4.2.4 ��������	
��
	� (Granger Causality) 
  �
	�� ��
�������������6���(��������* ����"�
����"�
 (��).� 2 "�
 	0� X  �� 
Y -����%������(4�'���.��������
�� 6������(���)� (��'�� X �(4�"����"�'������(���)� (��'�� Y  ��
 X �>	
����������',*����� Y ���(
�� 6�� X �(4�"����"�-����������(���)� (��-� Y ��0����'���(�������"�������',*�  
 (����� ���>	0� X 	
���5�
)-���������) Y �����>	0�-����6�6�)'�� Y ���	�����1�����'�� Y ��*� 	�����1�����'�� X /,�������������(4�"�
 (������	
����������
�5�
)-���������)'�������6�6�)�)�������)���	�!  
 (����������� Y ���	
�5�
)-���������) X ��"�1��>	0�
��6�� X 5�
)�����) Y  �� Y 5�
)�����) X �>�������"�
 (��0�������,��"�
��0�����
������(4�����"�-����������(���)� (����*�-� X  �� Y �
���9���*�����"�&��
��� (null hypothesis) (H0) �>	0� X �������(4�"����"�'�� Y �����*�-�����������������6�6�)�������������*	0� 
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   1 1

p p

t i t i i t i t
i i

Y Y X uθ γ− −

= =

= + +∑ ∑    (4.21) 
 
   1

p

t i t i t
i

Y Y uθ −

=

= +∑      (4.22) 
 
 ����� (4.21) ���)�
�� ���6�6�)������-��'�������� ��
������ (4.22) ���)�
�� ���6�6�)���-��'�������� 
 -�� rRSS  = 1��
���
�"�	�����0���
�������0�)���������� (residual sum of 

squares) �����������6�6�)��� -��'���� ����  (restricted 
regression) 

 urRSS  = 1��
���
�"�	�����0���
�������0�)���������� (residual sum of 
squares) �����������6�6�)������-��'�������� (unrestricted 
regression) 

 �
���9���*�����"�&��
��� -��5���6�"������6���'�)���������* 
 
 0 :H  �.�	����������'��#	���������������������������������������������	�����������������������������(4�����"�'��1��"2��3��
��
�2�)-�(����$ 
 
 0 1 2 0: pH γ γ γ= = = =K   
 1 :H  �.�	����������'��#	���������������������������������������������	��������������������������(4�����"�'��1��"2��3��
��
�2�)-�(����$ 
 1 0:H H ����(4����� 
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#�)����6�"������ (Test statistic) ���(4��6�"� F (F statistic) �����* 
 
   ( )

( )
( ),

/

/
r ur

q n k
ur

RSS RSS q
F

RSS n k−

−
=

−   6�����(D���� H0 �>���)	
��
�� X �(4�"����"�'������(���)� (��'�� Y  -����������)
���6�����"���������������"�&��
��� (Null hypothesis) 
�� Y �������(4�"����"�'�� X "����������
����������)������)
���'���"�� �
�)� "�
�������(���)� ��������'���"����� X ���(4� Y  ����� Y ���(4� X ������*� �����* 
 
   1 1

p p

t i t i i t i t
i i

X X Y uθ γ− −

= =

= + +∑ ∑    (4.23) 
 
   1

p

t i t i t
i

X X uθ −

=

= +∑      (4.24) 
 
 ���)������ (4.23) 
�� ���6�6�)������-��'��������  ������� (4.24) 
�� ���6�6�)���-��'��������  ��-5��6�"�������)������)
���	0� �6�"� F  
 ����"�&�����-5�-���������	
���(4���"��(4�1� �������* 
 
 0 :H  1��"2��3��
��
�2�)-�(����$����(4�����"�'���.�	����������'��#	���������������������������������������������	������������������������� 
 0 1 2 0: pH γ γ γ= = = =K   1 :H  1��"2��3��
��
�2�)-�(����$�(4�����"�'���.�	����������'��#	���������������������������������������������	�����������������    
   �������� 
 1 0:H H ����(4����� 
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 #(�������"
������
�'�� Lag /,��	0� p -�������������*�(4�"�
��'���������',*���� #�)���
�( ��
���(4���������������������������� � 	��'�� p ��� "�"������ 2 A 3 	�� �
0���������� ��-�
��1���
������������*����������
 �(���	��'�� p �����0���� �������'����������"����"���*	0�
�� "�
 (���� (Z) �(4�"����"�'������(���)� (��'�� Y  "������	
�����
������� X 
��� ��(I!����*	0� ������6�6�)#�)���	�� lag '�� Z (���D�).��������"�
 (��������
) (���$����C $����!��""�, 2547) 
 
 


